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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. Tghiee fhe TR T FiaR 9aq arelt Sfshan & 2 3g@ i |

How is staffing a continuous process ? State.

2. B FI g AT g Toh ANTRON Th e AT 8 2 3gT HIT |

Why is it said that ‘Motivation is a complex process’ ? State.

3. fored @ el st 1 g A |

List any two non-financial incentives.

4.  SfeA I wehe farg TR =1 a1l w3 |

Give the meaning of ‘Critical Point Control’.

5. ‘e Susie foame famor wRA’ & 7eq & e fohae gewt i sTavaehdan st
72

How many members are required to constitute ‘District Consumer
Dispute Redressal Forum’ ?
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FUYRAT & Ifdfh, IUTH SUHRRT BRH H TRhRIG g5 ot Tohd aTel Toheal al
Y&} o 98 ¥qrsy |

Besides a ‘consumer’, name any two parties who can file a complaint
before the appropriate consumer forum.

“Tre =g 3mfleR /1 3 wmHTeTes A1 TR Tefeeh, Yeey bl fRamd aaft weal
A B |’ 39 %A H (igd Je=y shi STURYg foRidr i 9g=me |

Identify the basic characteristic of management involved in the
statement — ‘The activities involved in managing an organisation are
common to all organisations, whether economic, social or political.’

STEETRI THTaLoT Sl TRl 91 el STl & 2 3g@ T |

Why is business environment called dynamic ? State.

‘i i quft greeR foRAT ST HehdT 8 SIE YUk Ygd 9 g I8 fvew st A T
FAT HET & A HY HET 8 | 30 HIH g0 300 T9=4 & 1 hl A9 FdT8 |

‘Dreams can be turned into reality only when managers think in advance
what to do and how to do it.” Name the function of management indicated
by the statement.

ST & 3 YR 1 Ig@ hifT S forelt TR & eteficio s erqufa & <an |

State the type of plan that does not allow any flexibility.

T o Teh 1Y o €9 § WIS ! IRATNG HIfT |

Define ‘organising’ as a function of management.

TS o HIAICHS Bld ohl ITIHAT I 3G hITIT |

State the suitability of functional structure of organising.

foreia TiTem o wewa o fohegl oA Tormgati 1 3g@ hilvg |

State any three points of importance of financial planning.
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(i)  eforfss foat |

Give the meaning of the following money market instruments :
1) Certificate of deposit; and

(11) Commercial bill.

fouue yerg i 3W FTIYNUM I TEATHC T GHIASY, A1 I8 Fiad w7
3CUTE U HATU ohaed 3eh! UGl T SV A0 o RV gl @lal i, 31fuq
zafere Gid STt 8 foh 3w 3uvien it fafdre srawaehar &1 gqe +t 8 |

Identify and explain the marketing management philosophy which

implies that products and services are bought not merely because of their
quality or brand name, but because they satisfy a specific need of a

customer.

A 9 ¥ fafits = &2 o fooiclt 90 &1 & == @ 8 | Ui T
HHATE! o ST & T IOERcd hl T G fS9SH gia1 8 | I8 deh 6
T ol o eH9 yergsh wHerEl Hi fava ® Wd g | YeRgehi @
SGER 95 3= 2 Ay et = 9gd gv # |

(a) 3ITE Aeae ° aftfa yevg = fagra #1 3g@ HIT |

(b)  Teregl 2 el ! TgTI ST ShEol FwTSt bl EEITA e =R B |

ABC Ltd. is engaged in producing electricity from domestic garbage.

There is almost equal division of work and responsibility between
workers and management. The management even takes workers into
confidence before taking important decisions. All the workers are

satisfied as the behaviour of the management is very good.
(a)  State the principle of management described in the above para.

(b)  Identify any two values which the company wants to communicate

to the society.



17.

18.

19.

20.

66/1/3

dicesh sfean fafee fuseft <l s=d & ot Ta S € oo o1 W 8 o
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(a) 3ITI® a1g=og # afld e % g #1 Sg@ HINT |

(b) UH T oAl I IGATHT ST HEIH! THTS i TN HET ATad g |

Voltech India Ltd. is manufacturing LED bulbs to save electricity and

running under heavy losses. To revive from the losses, the management
thought of shifting the unit to a backward area where labour is available
at a low cost. The management also asked the workers to work overtime
without any additional payment and promised to increase the wages of
the workers after achieving its mission. Within a short period the
company started earning profits because both the management and the
workers honoured their commitments.

(a)  State the principle of management described in the above para.

(b)  Identify any two values that the company wants to communicate to
the society.

gt siofe i vt wwiferd S aTel el T JUH hHIT |
Explain the factors that affect capital budgeting decision.

IYAIRT T T, 1986 o TTHAR IUNRAT 61 gRamyr G |

Give the definition of ‘Consumer’ as per Consumer Protection Act, 1986.

‘sfeza ufommi @t 9e % fo gdaE 99 @ SafeTa Te gaargel IuE et
FHEATT 2 |’ 30 % & Fed § quia HIfe fF very war 8 teer T8 |

‘The skilful and personal application of existing knowledge to achieve
desire results is called art’ In the light of this statement, describe

whether management is an art or not.
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FIH T &M R THA Afd § gied=i o 991 6 fheal =) faga 1 aui
I |
Explain any four points of impact of government policy changes on

business and industry.

‘e &1t IfHfaaar & Sifaw & w9 =1 & gry-ay FEee o= ot
aliehl T Ye=4ehl hl TEAAT KAl & || U8 fohal TR adiehl sl THEATST |

‘In addition to providing directions and reducing the risk of uncertainty
planning helps managers in the many other ways.” Explain any four such
ways.

T o STeT Fidi o fohral o9 aTdl o & ATt o1 3g@ hifrg |

State any three merits and two limitations of external sources of
recruitment.

=T < Hawd o foheal aie fawgati &1 qui <hifve |

Explain any five points of importance of Controlling.

IR TR (i TaHat) o fohegl qie 1t <1 Ui i |

Explain any five functions of Stock Exchange.

Uenforr” o1 T 319 B 2 Yot o fohrgl TR T Bl IgE ShifWTT |
What is meant by ‘Packaging’ ? State any four functions of packaging.

T S & Ay o gwifad 9 9 68l R SRenl 19U
Hifoe |

AT

Teh HEOHT <hl TARM Gt STTTIhaTatl ohl TNTId i aTct fehral 91 IRl hl
Fuiq I |

Explain any four factors affecting the dividend decision of a company.

OR
Explain any four factors affecting fixed capital requirements of a
company.
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Explain the four important elements of marketing mix.
OR

Explain any four factors determining the choice of an appropriate
channel of distribution.

TS UfshAT S FIYMT Bl GUH hIfST | 6
U

I=ieh Ta Y= died § fefafgd snum w st=ave Shifaw
G I

(i) 3
(Gii)  AfepR;
(iv) °Id8NR;

(v)  TYNU[ I JaTE; a1

(vi) 9 |

Explain the steps in the process of Organising.
OR

Differentiate between Formal and Informal organisation on the basis of
the following :

(1) Meaning;

(i)  Origin;

(iii)  Authoring;

(iv)  Behaviour;

(v) Flow of Communication; and

(vi)  Leadership.
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HAAT
féem fh8 TR &S & IWEYU Ud FHIC@ A H gl Kl 7 ?
BEEIE
Describe psychological barriers to effective communication.

OR
Explain how directing helps in effective and efficient functioning of the
organisation.
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